dY=A4[1+A,/A1Y]

Sy dYcieLag/dYinD=6.6
X dYy Y
-1.0 0.04718
-0.5 0.065 5.6
0.0 0.124 18.0|
0.5 0.31 569
1.0 0.896 180
Ay/A, = 0.1226

A;=0.0388 A = 0.004

Kittelmann_P0O2_017/
(x,y,Y)=(0,33, 0,36, 18)

e
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dY=A[1+A/A,Y]
log [d¥, 1 Si=dYcieLas/dYinD=7-2
X dYy Y
-1.0 0.04618
-0.5 0.062 5.6
0.0 0.113 18.0|
0.5 0.275 56.9|
1.0 0.785 180
A,JA; =0.106
A;=0.0391 A =0.004
Ag=2507 A =0.556
Kittelmann_PO4_068/
(x.y,Y)=(0,33, 0,36, 18)
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dY=A4[1+A,/A1Y]

Si=dYcieLas/dYinD=8.4
X dYy Y
-1.0 0.04118
-0.5 0.054 5.6
0.0 0.097 18.0|
0.5 0.231 56.9|
1.0 0.657 180

A,lA; = 0.0986

A,=0.035 A =0.003

A3z=1.141 A=0.853

I Ag = 0.2362 Kittelmann_PO5_392/
(x,y,Y)~(0,33, 0,36, 18)

...p..
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